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Instructions : The question paper consists of five Sections. Each Section carries 40 marks.

Section — I is compulsory and contains twenty objective questions.
two marks (2x20=40). Sections —

Each carries ‘
I to V contain two optional long descriptive
questions each. The candidate is required to answer one question from each Section.
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1. Which one of the following activities of the Reserve Bank of India ig considered to be a part
of ‘sterilization’?

(A) Open market operations
(B) Ovemight settlement of payment systems

(C) Debt and cash management for the Central ang State Governments

(D) Regulating the functions of Non-Banking Financial Institutions
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With reference to land reforms in Independent India, which one of the following statements

2
H

is correct?
(A) The ceiling laws were aimed at family holdings and not individual holdings

(B) The major aim of land reforms was providing agricultural land to all the landless
(C) It resulted in cultivation of cash crops as a predominant form of cultivation

(D) Land reforms permitted no exemptions to ceiling limits
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3. According to the NITT Aayog’s first Multidimensional Poverty Index (MPI) report, which

State has the highest rate of poverty among its population?

(A) Chattisgarh (B) Madhya Pradesh

(C) Bihar (D) Jharkhand
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4. Which¢ s nisation 1s accountable for calculating Gross Domestic Product of India?
(A) Indian Statistical Institute (B) Reserve Bank of India
C) Central Statistics i
{ tatistical Office (D)  Ministry of Commerce and Industry
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Consider the following statements -

tn
.

(D Inthe case of all cereals, pulses and oil-seeds, the procurement at Minimum Support
Price (MSP) is unlimited in any State/UT of India.

(I)  In the case of cereals and pulses, the MSP is fixed in any State/UT at a level to which
the market price will never fall.

Which of the statements given above is/are correct?

(A) (D) only (B) (D) only

(C) Both (I) and (1) (D) Neither (I) nor (IT)
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6. When the Reserve Bank of India reduces the Statutory Liquidity Ratio (SLR) by 50 basis
points, which of the following is likely to happen?

(A) India’s GDP growth rate increases drastically
(B) Foreign Institutional Investors may bring more capital into our country
(C) Scheduled commercial banks may cut their lending rates

(D) It may drastically reduce the liquidity of the banking system
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Tejaswini scheme is being operated in Jharkhand in collaboration with which international
organisation?

(A) International Monetary Fund

(B) World Bank
(©) Asian Development Bank

(D) New Development Bank
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How many times has the President’s Rule been impdsed in Jharkhand?
(A) Twice (B) Thrice
(C) Four times (D) Five times
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Regarding the Skill India Mission, consi
(I)  Main focus of Skill India Mission

(I)  National Skil| Develop
of the world.

der the following statements :
is skilling, re-skilling and up-skilling.

ment Corporation International aims to make India a skill capital
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(M) (D), (1) and (111
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